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サイコロをつ投げたときの全部の場合の数は通り

　条件を満たすのは

　　  ＝                   

　の通り

　よって，求める確率は








　条件を満たすのは

　　　＜＜

　のときだから

　　  ＝           

　以上の通り

　よって，求める確率は



＝




　条件を満たすのは

　　  ＝                              　　

　　　　　         

　　以上の通り

　　よって，求める確率は



＝



 

 

 


